























Set up the matrix for the number of players 













Notice that the players matrix has the dimensions 3x2 so we need to keep that 
in mind as we make the matrix of the fees. We know that we have 3different 
prices that are charged and we know that in order to multiply matrices together 
they must share the middle value. So let's look at the possible fee matrices we 
could have 









So now let's see how we need to combine them base on dimensions. 

3x2. 1x3

3x2.  3x1

1x3.  3x2



In order for the dimensions to work we must multiply the 1x3 by 3x2
























    


                            Answer 


